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4 ™

int x;

int £ (int y) {
return x + y + y;
}
int g (int z) {
int x; int y;
x = 20; y = £(0);
print y; /¥ COO0 printf("%4d\n", y); OOO=/
return 30;
¥
int main () {
x = 10;
print £(g(0));
print g(g(0));
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let £ x=x+ 7 in
let rec gn =
if n = 1 then f 10
else
let y =g (n + (1)) in
fy
in
let rec h n =
if n = 1 then f
else
let z=h (n + (-1)) in
fun x -> £ (z x)
in
let al
let a2
let a3 = h 10 in
let a4 = a3 9 in
(print a2, print a4) ;; (x a2,a4 OOOOO =)

f 3 in

g 5 in
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e ::= Int(n) | Plus(e,e) | Minus(e, e)

LO000000000 (D00D0)0000000 (CKOOD)00O00oO00o0o0o0o0o00OU (eval, e, init)
gooooobooooobooo ---booo0ooboao

(eval, Int(n), K) — (apply, K, n)
(eval, Plus(ey,es), K) — (eval, ey, push((plusl,es), K))
(eval, Minus(eq,ez), K) — -
(apply , push((plusl,e), K), n) — (eval, e, push((plus2,n), K))
{(apply ,push((plus2,m),K), n) — (apply, K, p) (000 p=n+m)
(apply ,push((minusl,e), K), n) — (eval, e, push((minus2,n), K))
(apply , push((minus2,m),K), n) — (apply, K, py (OO0 p=--+)
(apply ,init, n) »n (OO OO)

000 + 000000000000 (addition) 000000000000 0000D0O0O0O0OODOOO0OO
(000 ,subtraction) 000 —00000000000K D init0 (00000000000)0000000ODO
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